Efficiency vs dr

x 0.2

< H :
©0.18f 1
30.16f 1
< |
() H
S0.14fF %
=
©o.12f -
0.4+
0.08
0.06
0.04
0.02

I
-

(@]
TTT T T TFs

} IR
| 2 N B 0 W

[ fake+duplicates vs AR |
0.8

0.7

0.6

0.5

0.4

take+duplicates rate vs AR

0.3

0.2

0.1

1'25-" —=— DQM_mkFit_TTbase

Ratio

o IS

1| —— DOM_mkFit_TT retrainOldFiles125

1078 1072 107t

[ Efficiency vs dr (track,jet) |

§0.02
00.018F
- n
%).016_
®.014F
> o
D.012F
o c
=]

£ 0.01
© E
0.008F
0.006F
0.004F
0.002
e

Ratio
N

0.95

107 1072

Efficiency vs pu

1
AR(TP, jét)

50.05
o
9.045
20.04
(]
®.035
=

CTI7SE SO T 1 o

0,025 -+++besee{ oo
0.02F - [{-[]. +
0015+ ----|f-
008
0.005

———
*.

10
1.1

Ratio

+

0.9F----re--- {24

o
N
o
W
o

40 50 60 70 80 90 100

Pileup

1
TP min AR

-1

0.6

107 1072 107 1
track min AR

[ fake+duplicates vs AR(track, jet) |
0.2

~0.18F
o6
50.14f
0.12F

0.1
0.08F
S.0.06F
+0.04F
80,02

Jet)

licates rate vs

ke+du

Ratio
=

107 1072 10"
AR(track, jet)

5 05
0 0.45F

o o

N 9w ©

a_w o b
I

©
N
T

take+duplicates rate vs P

0.15¢

©
i

0.05F

L O
v

Ratio

0.9 -
0.8

0.5

i

40 50 60 70 80 90 100
Pileup

o
=



	Contents
	Page 1


